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Code

- ¥include =stdio.h=

ginclude «<stdlib.h=

¥include =<math.h=

tdefine R 8.314421 ——> R 34 global P15~ O

void normalization{double ++arrl,double +=+arrd3,int xn
void pivaotinaldouble #+arrl,double ++arr3, int ® )

xs=x3; , Xl=x£;
arr1=J(X), arr3=inverse

woid gaussi{double ++arrl,double ++arr3,int =) —)  |nverse matrix

void subfdouble ++arrl,double #++arr3,int =)

void multiplefdouble ++arr3,int =)

double functioni{double ®s,double x|, double T)
double function2{double xs, double =1, double T
void Jacobiant{double ++arri,double xs,double ®|,double T
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| fnr-:T 12141 <1687 nun++ ) e 1214K~1687K
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_ _ _ ifius=0) < <2
int main{void) {
T
' . o whilefxs=0)
int w,i0,0: {
double ++arrl. wos=xs+0. 012
double ++arrd; } I
double ®s,x1. 1

double T=1:14; — else ifi{xs=1)
M—» F(X)2l element= {

whilefxs=1])

{
FILE+* outfile:
=xg-0.01;
Al T+ = | At HeTHS
Ir 45 text= A
outfile=fopen(“result.txt", "w" = } oA - -I < \ ' 0<XSs<1
PF{wl<0 0<xl<1
printf{"Hatriz2l 2 3|E& SEStAZ: "N {I v tH o H gl /ASK
seanf("£d", &x); whi el x1<0) a9 AANE T H
arri={double++nalloclsizeof{double+ J+=x I
arrd={double++Imallocisizeof(doubles J«xl; =] +0.01:
1
printfi{ 023t HWie 2EEE AL UETHHZ L ilse iFiwl=11
scanf({"ZIF 21" &xs, dxl ) { whilefsl=11
{
= 9 O =xl=0.01
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if{fabs(f1)=0.00000001&%:Fabsl £2 )<0,00000001 )
{
printf{"%.01f EIf ZIf &.2E E.ZE Edfint, T,xs, 8, F1,f2, num ).
fprintfioutfile, 2. 00f #If XIf Zd¥n",T,=s.%0,num
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Far{i=0; i<y j++)

{
arra[il={double+inallocisizeaf{doublal+x):
Forfi=0;j=u j++]
i
Pifli==j)
arralillil=1;
else O xlL BHo
arr3[illil=0: —J—-7<} =
! = g
normalizationfarel,arr3, =0
pivotinglarri,arrd, s u
gaussiarrl,arra,
For{i=0; jzu; j++)
{
forfi=0;j=u j++]
i
ififabs(arr1[il[j] )=0.000000013
arri[illil=0;
ififabs(arr3[il[j] )=0.000000013
arralillil=0;
'
'

sl=wl-(Carr3[0]1[0]+F1 M+ (arr3[0][1]+F2 00
wg=ws-(Carr3[1]1[0]+F1 M+ (arr3[1][1]+F2 00
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Code

=ldouble functioni{double xs,double =1, double T) =void Jacobian{double ++arrl,double xs,double xI|,double T)
{ i
double Si: int i.i:
Si=60208.00-(29, FE17+T )+ {R+T+logf x| fus il Foar{i=0; i<2; j++)
{
return Si. arri[il={double+mallocisizecf{double )+2);
& }
Sdouble function2{double xs,double x1, double T} arri[0][0]=(R+T ) (=l
{ arr1[0][1]=C0-R+T 3/ Cush
double Ge; arr1[11[0]=C0-Ra+T 3/ 01-01
arr1[1]1[1]=(R+T 2/ { 1-ng ]
Be=36944,72-(30 ., 4976+T J+(R+T+log{{1-x| 3 {1-u533 0 _}
return Ge:
1
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A.746786
A.755885
B.763133
A.771173
A.779125
A.786992
a.77477%
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A.459768
A.4'7137%
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A.543661
A.556152
A.568768
A.581512
A.574383
A.6A7381
A.628586
B.633758
A.647137
A.668644
A.674279
A.688R41
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B.784624
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A.796479
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Result

S resut - mezx T

oEF) \EE MAO 270V) =EZH)

1214 0.010371 0.002571 20 1394  0.538444 0.253742 4 1469 0.686538 0.403674 4
1219 0.030032 0.007599 5 1399  0.549258 0.262876 4 1474 0.695450 0.414595 4
1224  0.049311 0.012732 5 1404  0.559924 0.272132 4 1479 0.704257 0.425700 4
1229  0.068220 0.017972 5 1409  0.570445 0.281510 4 lags 0.112980 0. danoal y
1234  0.086769 0.023318 5 1414  0.580825 0.291009 4 149 0 ¥a0087 0 459768 H
1239 0.104969 0.028771 5 1419 0.591066 0.300630 4 1499 0.738473 0.471375 4
1244 0.122830 0.034333 5 1424  0.601173 0.310374 4 1504  0.746786 0.483107 4
1249  0.140361 0.040003 5 1429  0.611147 0.320240 4 1508 0.755005 0. 494966 H
1254  0.157570 0.045782 5 1434  0.620993 0.330229 4 1514 0.763133 0.506950 4
1259 0.174468 0.051670 ¥ 1439 0.630713 0.340342 4 218 0.dIs 0-219081 y
1264  0.191062 0.057668 4 1444  0.640309 0.350577 4 1258 0 Y8995 D BA3EE H
1269 0.207362 0.063777 4 1449 0.649786 0.360937 4 1534 0.794775 0.556152 4
1274 0.223374 0.069997 4 1454  0.659144 0.371420 4 1539 0.802477 0.568768 4
1279 0.239107 0.07£329 4 1459  0.668387 0.382027 4 1544 0.810098 0.581512 H
1284  0.254568 0.082772 4 1464  0.677517 0.392758 4 1549 0.817640 0.594383 4
1289 0.269765 0.089328 4 1469 0.686538 0.403614 4 }ggg S'ESSLSE 8'5%23& ﬁ
1294  0.284704 0.095997 4 1474  0.695450 0.414595 4 1281 0839813 0 853758 1
1299 0.299392 0.102779 4 1479 0.704257 0.425700 4 1569 0.847054 0.647137 4
1304  0.313836 0.109675 4 1484  0.712960 0.436931 4 1574 0.854226 0.660644 4
1309  0.328042 0.116686 4 1489  0.721563 0.448287 4 1579 0.861328 0.674279 4
1314  0.342016 0.123811 4 1494  0.730067 0.459768 4 1584 0.868361 0.688041 4
1319 0.355765 0.131051 4 1499 0.738473 0.471375 4 }ggg g-gggggg g-g?}igﬁé g
1324  0.369294 0.138407 4 1504  0.746786 0.483107 4 1289 0 889665 0 430094 1
1329 0.382608 0.145879 4 1509 0.755005 0. 494966 4 16504 0.895837 0.744367 4
1334  0.395713 0.153467 4 1514  0.763133 0.506950 1 1609 0.902528 0.758768 4
1339 0.408615 0.161172 4 1519  0.771173 0.519061 4 1614 0.909197 0.773297 4
1344  0.421318 0.168995 4 1524  0.779125 0.531298 4 1619 0.915787 0.787953 4
1349 0.433828 0.176934 4 1529 0.786992 0.543661 4 }ggg g-ggg%? g-g?ggg? g
1354  0.446149 0.184992 4 1534  0.794775 0.556152 4 1051 O o508 0 830682 1
1359 0.458285 0.193168 4 1539 0.802477 0.568768 4 1639 0.941569 0.847861 4
1364 0.470242 0.201463 4 1544 0.810098 0.581512 4 1644 0.947875 0.863158 4
1369  0.482023 0.209877 4 1549  0.817640 0.594383 4 1649 0.954128 0.878583 4
1374  0.493633 0.218410 4 1554  0.825105 0.607381 4 1654 0.960329 0.894136 4
1379 0.505077 0.227062 4 1559 0.832495 0.620506 4 }ggg g-gggg;g g-gggg;; g
1384  0.516357 0.235835 4 1564  0.839811 0.633758 4 e 0 9veesa 0 921564 2
1389 0.527478 0.244728 4 1569  0.847054 0.647137 4 1674 0 984824 0 957629 5
1394 0.538444 0.253742 4 1574 0.854226 0.660644 4 1679 0.990575 0.973823 5
1399  0.549258 0.262876 4 1579  0.861328 0.674279 4 1684  0.996479 0.990144 5
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S

B.818371
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B.847311
B.868228
B.886769

Al

B.6882571
B.887529
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B.6817272
B.6823318
B.6828771
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B.817272
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1.82E-812
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3.64E-812
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—4.55E-813
-2.82E-B13
J.41E-813
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Conclusion
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